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%1% [2. 000kg] B -5
05/12|MASEBF [ REE 1|=E F#H 4 21m91
(8233 (2 000kg] Ei-=28
05/12[M508BF | iRES 1[5 %22 =] 25m31
8245 [1. 500ke] ER- ALl
05/12|MB5EBF | iR 1% EE 5| 21m89
38238 (1. 500ke] BH-RF
05/12[MB0EF | iRES TR & o 24m48
(%32 (1. 000kg] BE-HE
o5/12[#—T > | LT ®Z e 31m55
[ #23% [1. 000ke] IN-RINE
05/12[M658F [ REE T[XH BA o 23ml7 |[2[48E &3 o 21m02 |[3[EE FE oo 17m49
Fo#4% (1. 000kg] Ei-=2) BEr- ALl EN-AE
05/12|F—T > | #51 FRIE e 25m28 FTa Bk 6| 24m64
(%32 (1. 000kg] EE-E [ LU - [ L
o5/12[#—7> | A FE 71| 2Im37 mE % | 22mi7
A1, 000kg] E1R- &R INZTIN=]
05/12[#—F> | A HiE 6| 22m43 EA —BE 7| 18m08
F#E4% (1. 000kg] EL - FE EiE-Bi8
05/12|Was&xF | iRES 20 &FR «[ 5m62
B %4 000ke BB
05/12|#—F > | EEIEHH 57| 8m25
Fah 1% [3. 000kg] EiR- SR
05/12|WT0&F | iRE% 1|KE BF 1| 5m32
Fasi% [3. 000ke] BE-RF
05/12|A—T > | ¥ Z=F 71| Imb5 AIETf-FE/ 7| 5m90
B %3 000ke] EE-EE LE-
05/12|WB0ZF | kB T[FE BIF o 4m67
Fa.38[2 Okg) BE-KF
05/12[M508BF | iRES 1|&E &% s| Tn39
K432 [6. 000ke] B -EH




No.12

Sy - J4—ILFTER - FiFE - R - RE - BBER
Il BER =— k[31] ey BEBRYRI—XBREBRRTEAS =— 1| 24310004 | #piE  AERAEI, ¥z FEB
ER il BRYR4— X LERESR B RFHERILE RS a— k[ 312030 | FgEir RiES
: : VX | AL ] i A o TH BEs e H BRE A o H mEA e B EE A e E| BB i H BREA e H BRE A
H A+ fEH sy sl FE, Aok i = ALk i T, ALk i i, Rk I FE, ok i HE, ALk i iR, ALk i i, Rk
05/12|#—T > T Bz o 8m94 =R el Tm94
Ha 1% [5. 000kg] NS Bif - Bif




No.13

bSvD - TJ4—ILFEEE - Fi& - BERE - R - BLERR
Il BER =— k[31] ey HEBRYRA—XBREBERTEAS =— 1| 24310004 | #piE  AERAEI, ¥z FEB
EXCAIEN EBRY R —X[ELRBUESR it RFMERILE LGRS =— | 312030 e T REN
: : VA | L] BRIE e | B4 e E| BB e | BB e | BB e || Bl e E| BB e B BB

A FEH sy sl FE, Aok i HE, Lk il e ALk i i, ALk I FE, Fogk i HE, ALk i iR, ALk i i, Fgk
05/12[A—J > M5l FRIE 5| 8m23

a5 [5. 000kg] EE-EE
AN EEERES ThE EE 7 8m4

A% [4. 000kg] B2
05/12|#—7> | hE  F 1] Iml6

T35 [4. 000kg] INZTIN=]
05/12|MT58F | RE 1|BEHEE 16| 6ml6

R 1% [4. 000kg] B BRE
05/12|#—7> | MEE R L AN —hE 75| bme4

A% [4. 000kg] - [i] iR - 218
05/12|A—T > | AR HF oo 19m02

N7 —15[3. 000kg] [ L - [ L
05/12|A—T > | WE =7 1| 22mi0

N —1%[3. 000kg] EE-EE
05/12|F—J > | # 3 2| 8m36

N —1%[4 000kg] EiR- 818
05/12|MBOBF | REB| T[A 2 «| 19md0

N7 —1%[5. 000kg] SH-BaE
05/12|A—T > | [ #i5l IRIE | 19m82

N7 —$&[5.000kg] EE-EE
05/12|F—J > ] | ¥R % 1| 28m68

N —1%[4 000ke] EE-EE
05/12|A—T> [ $HHE HE s 18mld

NI —1%[3 000kg] fig] Ly - ] 1




